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£l P9 - il
= 1 119, 422, 337
w4 T
= 1 7,526,018
I L
= 1 966, 150
I +H
m3 4, 500 214.7 966, 150
7
= 1 4,737, 886
PR (L) B - 4. 0omPA |
m3 4,700 216.4 1,017, 080
PR (L) B - 2. 5mPh 4. OmA i
m3 10 766. 8 7, 668
b S TE b Cash ERIRY L&)
= 1 2,529, 648
FEIA O=27) +H
= 1 1, 183, 490
L 1T
= 1 1,821, 982
EE R (B) 1350)
m2 540 805. 8 435,132
IR S AC R =) T T i ] o0 i
m2 1,200 402. 4 482, 880
IR AC =R T T [ oD A7
m2 340 647 219, 980
b S TE b Cash ERIRY L&)
= 1 461, 630
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EwZRes Rkt
= 1 222, 360
G RE K NN
= 1 62, 699, 501
EE LT
= 1 2, 567, 865
PRAE D (A R
= 1 515, 280
ML A+
= 1 1, 783, 800
b S TE D CEUL EHRY HET)
= 1 215, 595
B S AVHE T O ALE]
= 1 53, 190
R L
= 1 7,557, 410
NS IIwA L=7.0m
e 8 105, 050 840, 400
NS IIwA L=7.0m
e 2 97, 639 195, 278
NS IIwA L=5.5m
e 14 88, 635 1, 240, 890
NS IIwA L=5.5m
e 2 73,303 146, 606
NS IIwA L=2. 0m
e 52 32, 636 1,697,072
Al & S SRR SP-TIw L=7.0m I/}
5 2 913, 403 1, 826, 806
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Al & SRR SP-1Iw L=5.5m 117}

e 2 749, 435 1, 498, 870
R BR AR SD345 D16 L=600mm 7V7is#H:

VN 104 1,072 111, 488

BIET

= 1 44, 212, 358
¥ Layy)-}h 18-8-40BB W/C=65% t=20cm

m2 70 4,705 329, 350
¥ Layy)-}h 18-8-40BB W/C=65% t=10cm

m2 70 2, 352 164, 640
7 VAN IR 2.3mX 2. 5m 24y

m 24 1, 440, 509 34, 572,216
av)-p PIZEME 2.3m PNZEm S 2.5m 24

-12-40BB W/C=<55%

m3 137 22, 520 3, 085, 240
ERAR SD345 D16~25

t 3.81 180, 550 687, 895
A SD345 D13

t 4.3 179, 716 772,778
H Hi VB HRHE R B Hi =20

m2 9 4,653 41, 877
1EZKAR FC (#L™ ) 200 X5

m 20 2, 608 52, 160
Tl — AT

= 1 2,428, 280
i T A ¢ 350

= 1 1,672
it BRR Y NLE

= 1 1, 431, 890
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SR F=<40kN/m2[t=120cm]
= 1 463, 120
SR F=<40kN/m2[t=120cm]
= 1 181, 240
gﬁij_‘
JI&
= 1 2,632, 648
¥ Layy)-}h 18-8-40BB W/C=65% t=10cm
m2 70 2, 352 164, 640
av)-p 24-12-40BB W/C=<55%
m3 39 22, 520 878, 280
ERAR SD345 D16~25
t 0.58 177,770 103, 106
Y] SD345 D13
t 1.61 179, 716 289, 342
Tl — AT
= 1 857, 040
it BRR Y NLE
= 1 340, 240
gﬁij_‘
JIEE
= 1 5,729, 220
¥ Layy)-}h 18-8-40BB W/C=65% t=10cm
m2 70 2, 352 164, 640
avy)=p 24-12-40BB W/C=<55%
m3 80 22, 520 1, 801, 600
ERAR SD345 D29~32
t 0. 94 178, 697 167, 975
ERAR SD345 D16~25
t 2.89 177,770 513, 755
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A SD345 D13
t 2.5 179, 716 449, 290
Tl — AT
= 1 1, 714, 080
it BRR Y NLE
= 1 736, 640
SR F=<40kN/m2[t=120cm]
= 1 181, 240
Rk E T
= 1 16, 949, 634
R % T
= 1 35,014
A7v7” B=300mm
VN 14 2,501 35,014
B T
= 1 1,018, 463
BT RSB, - 1 -3-2. Om (8% A7)
m2 33 28, 902 953, 766
A SD345 D13
t 0. 36 179, 716 64, 697
VAVIAY =
= 1 764, 532
7779 MR-l £ 100mm £ & 530mm
B3Il 5 107, 366 536, 830
7779 MR-l £ 100mm £ & 800mm
B3Il 2 113, 851 227, 702
EFHGZ AL
= 1 31, 748
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¥ Layy)-}h 18-8-40BB W/C=65% t=10cm
m2 1 2,593 2,593
avp)-p 24-12-40BB W/C=55%
m3 0.3 27, 652 8,295
A SD345 D13
t 0. 02 179, 716 3,594
Tl — AT
= 1 17, 266
BIEEEERE L
= 1 15, 099, 877
BEG R ERE
= 1 15, 099, 877
LR T
= 1 17,993, 553
EE LT
= 1 192, 579
IRHE DGR +H
= 1 21, 470
HEREL i+
= 1 90, 050
HEREL i+
= 1 29, 060
FEE IR
= 1 34, 080
b TE b Cash ERIRY L&)
= 1 14, 373
B S AVHE T O ALE]
= 1 3, 546
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FERET
= 1 2,838, 677
7" VAR He-p-5RI-A
m 37 56, 054 2,073,998
7" VAR He-p-1RI-A
m 37 20, 667 764, 679
290 =47 my ) T (ORI ny )8R)
= 1 9, 875, 264
KT ny )8k - KH-1-0. 35m
m2 469 21, 056 9, 875, 264
# AR L
= 1 1,811, 258
7" Vv A MR BE -2
m 36. 8 18, 805 692, 024
RSV 21-8-40BB W/C=60%
m2 167 6, 702 1,119, 234
EQER Y J=uN
= 1 3,275, 775
Ty b (An=7° 7)) t=30cm
m2 345 9,495 3,275, 775
AR [ ¥ 1T
= 1 1, 808, 769
AR[E D7 my) T
= 1 1, 808, 769
ARIE D7 my s PEAT FIET ny)4t
e
& 129 8,003 1,032, 387
IRIE D7 ny s HEAF BT ) (77 ny7) 2t
G
& 13 5, 264 68, 432
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THIRARE 7 ny )/ FEIA HIET ny)4t
= 1 237, 876
THI AR E D77 ny I FEA BIET ny) (77 nyr) 2t
= 1 21, 580
T AR [E 67wy )i BT ny)4t
= 1 423, 378
TH AR [E D77y i BT ) (77 ny)) 2t
= 1 25,116
Her-7" vELAE T
= 1 5, 246, 880
EE LT
= 1 2,647, 710
PEHI Cer-7" ML) +H
= 1 703, 230
ML Vi - (PR & L)
= 1 1, 840, 800
b S TE b Cash ERIRY L&)
= 1 91, 860
B 7 AVHE T O ALE]
= 1 11, 820
A& T
= 1 1, 444, 170
Ficl A 3% B (MR EB) FEP £ 50mm, 80mm
m 910 1, 587 1,444, 170
VAN N
= 1 1, 155, 000
AN H2-9% ($k35T-25)
(&0 6 192, 500 1, 155, 000
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[fTan
= 1 7,197, 982
THEAERK T
= 1 3,975, 552
FERAR BRI ES
= 1 3,975, 552
B R B T
= 1 2, 550, 680
e g 1+
= 1 2, 550, 680
KET
= 1 263, 820
LMIAE? /N
= 1 263, 820
A EE T
= 1 407, 930
7K % +H
= 1 407, 930
TEAE R
= 1 2,019, 923
T O e R A0 22 1 i A W A
= 1 2,019, 923
Bl & - B AR L
[+ A T H T ]
= 1 12,179
BN UTPr=7" v
(€20
m 2 593. 8 1,187
BB UTPr=7" v
(ZANL)
m 31 354. 6 10, 992
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1 1,767, 894
TE1E Hh R CVV=S=7" I (L %o ~ UM EI EE AR
4.0 1. 25mm2 X 4C $i7-7°
(EW)
749 1,516 1,135,484
B 1E Hu Ed R FCPEV-S/=7" v (#il7-7") 400> 1.2
m-20P
(EW)
2 3,318 6,636
Hi AR MVV-S 1. 25mm2-2C
(EW)
69 642. 44, 360
Hi AR CVr=7" v (60OVEEAEH V=77 1) 2.0
600V 2. 0mm2 X 2C
(EW)
37 1,423 52, 651
iy AR 1FE5r-7"w
(EW)
5 687. 3,437
iy AR P IVA RN Ay
(EN)  (FFBEDOH)
94 1,316 123,704
WIE BN AR CVV=SHr=7" W (L %o ~UMHRIEI EE AR
4.0 1. 25mm2 X 4C $i7-7°
(ZA1L)
2 990 1,980
WIE BN AR FCPEV-S/=7" v (#il7-7") 400> 1.2
m-20P
(ZA1L)
3 2, 409 7,227
BN MVV-S 1. 25mm2-2C
(ZA1L)
3 403. 1,211
BN CVr=7" v (60OVEEAEH V=77 1) 2.0
600V 2. 0mm2 X 2C
(ZA2L)
2 897 1,794
2 N BC AR 1E85r-7"w
(ZA)L)
10 448. 4,481
2 N BC AR P IVA RN Ay
(ZABL) (FHBEDOH)
3 789. 2, 368
15 AR CVV=Sr=7" I (L %o ~UMHRIIEI EE AR
4.0 1.25mm2 X 4C $i7-7°
(EW)
10 1,516 15, 160
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A ECHR MVV-S 1. 25mm2-2C
(€20
m 26 642.9 16, 715
A ECHR CVr=7" W (BOOVERAZR V=77 W) 2.0
600V 2. 0mm2 X 2C
(&™)
m 14 1,423 19, 922
R AL AR IRAL G =7" W
(BN (FFBDOIH)
m 78 1,316 102, 648
EAECHR MVV-S 1. 25mm2-2C
(FEH)
m 1 954 954
EAECHR CVr=7" W (BOOVERAGR V=77 W) 2.0
600V 2. 0mm2 X 2C
(FEH)
m 1 2,214 2,214
iy i A ARBIEZ L 2518 (¢ 50)
m 4 3, 884 15, 536
T o i FEP & 30mm
m 55 344. 7 18, 958
M AL FEP £ 50mm
m 29 414. 2 12,011
b ] C £ 3lmm
m 6 3, 606 21, 636
b ] C £ 5lmm
m 3 7,122 21, 366
b ] C £ 63mm
m 2 7,481 14, 962
BEAOEE AR L S BERE £ 38mm
m 2 2,537 5,074
JB AN G £ 28mm
m 9 4,013 36,117
JB AN G £ 42mm
m 9 5, 909 53, 181

- 11 -

E s Abkei )7 &6 R




N 2

it

£

THEX Sy« TH - FERI - HH50 MoK PO B B G AT & # T (G E LM
Ficl & B M B IR o
= 1 25, 474
LEREA
(BEH
= 1 633
7R 9 ARR E L
[ e Bl 7k i ]
= 1 239, 850
7TVE AR 300X 300X 200 SUS Wp
& 1 28, 661 28, 661
7TVE AR 400X 300X 200 SUS Wp
& 1 35, 044 35, 044
7TVE AR 300X 300X 300 SUS Wp
& 5 35, 229 176, 145
B T HE
= 1 121, 442, 260
BTl TE:
= 1 16, 116, 468
B ST ¢
= 1 5,503, 015
TR
= 1 4, 388, 964
T RR A oy PR ST A B
= 1 1,079, 224
IR T
= 1 3, 309, 740
Htre m
= 1 93, 189
BRI MR G S AT —4E
D% -4
= 1 11, 301
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v - A B R
= 1 81, 888
BUGERRYCEE (5 1)
= 1 1, 020, 862
MR R (B L)
= 1 10, 613, 453
Wi
= 1 137, 558, 728
BTk X=giiv oy
= 1 37, 351, 353
R 5]
= 1 174, 910, 081
— R
= 1 25, 489, 919
T HAlik
= 1 200, 400, 000
BET
= 1 28, 138, 536
/NI PR A
(M Bl 7 M K A P )
= 1 17, 521, 382
7K P %
= 1 10, 130, 272
BRI VA 7 V=M = M-I - R R 2.
3m A &hE2. bm DU AKE A 7%
FH/KR6. 592m
5| 1 3,114,010 3,114, 010
40 (AR 7 V=M= M-I =N RS
FY 0 & S5, 4m
M5 1 1,694, 436 1, 694, 436
A PHZEE (VN AK ) 7 V=M= MR- b Ty
M55 1 5,321, 826 5,321, 826

- 13 -

E s Abkei )7 &6 R




YN/

it

£

THEX Sy« TH - FERI - HH50 B PO B B G AT & i i E (A5
PRAEH A 3% i
= 1 3, 865, 939
BRI BB L
i} 1 3, 865, 939 3, 865, 939
[
= 1 3,076, 341
(=gl SRR IR R X 5 A
i 1 920, 306 920, 306
o5 3 At SRR IR R X 45C
= 1 688, 917
R AR R SRR IR R X 5 A
H 1 644, 664 644, 664
E b - ST IR R X 45D
H 1 139, 750 139, 750
AR SRR IR R X 45 E
H 1 682, 704 682, 704
THuREE T (B
= 1 448, 830
P e Jite 1
= 1 79, 524
VAR SA Ao i T HDZT77
= 1 204, 727
VAR SA Ao i T HDZT56
= 1 164, 579
T2 I3 A0 I 00 22 1 SR A
= 1 10,617, 154
T2 I3 A0 0 22 1
[+ B T H T ]
= 1 926, 372
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122 I3 B A0 F A0 i A 7AI b7 BN 2y
= 1 416, 867
R M=) AR R E
= 1 509, 505
A B A0 0 2
[ e AT ]
= 1 9, 134, 959
A B 0 0 2 ADIT2m 71248
= 1 7,318, 345
R M=) AR E
= 1 509, 505
AL =t [EIERAT
= 1 88, 005
AL = 30W
& 1 74, 109 74,109
S DC12V/24V
& 1 33, 349 33, 349
IR KR 5= DC12v
= 2 555, 823 1,111, 646
A B A0 0 2
[ seas]
= 1 555, 823
iV KR 5= DC12v
5 1 555, 823 555, 823
495 B
= 1 2,076,927
E (e
= 1 30, 215, 463
THE s
= 1 1, 540, 558
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BRI
= 1 31, 756, 021
it L
= 1 6, 153, 649
/INFE 7K PR i % L
[ Bl 7k M K A P )
= 1 276, 985
ik 1.
= 1 276, 985
/INFEIK PR i %
= 1 199, 170
A T % I i 1%
= 1 77,815
IINFEIK PR A P A
[ Bl 7k M K A P )
= 1 2,201, 402
/NFEIK PR A L
= 1 2,201, 402
PE i G AK) VARl M AR S Rl
= 1 1,272, 554
PaAft (8 BAE) SRR IR R X 5 A
= 1 212, 258
aAt (B SRR IR R i X 45C
= 1 159, 194
oAt R AR IE) SRR IR R X 5 A
= 1 106, 128
AR ] SRR IR R X 45D
= 1 53, 064
il (27)-0) SRR IR R X 45 E
= 1 79, 596
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ELHERR B (K P a%Ai)
= 1 166, 430
BT, (@ %)
= 1 152, 178
T B s 10 25 1 i 3k
= 1 90, 784
ik 1.
= 1 90, 784
T2 I3 A0 00 22 o %
= 1 90, 784
Tork I P A0 1) 0 AR A I
= 1 3, 584, 478
Tork I P AT ) 0 R 1 I
[+ A T H T ]
= 1 29, 636
122 I3 A0 I 0 22 1 R 7IAI b7 BN 2y
= 1 23,733
Ry b0 PR AR R B R
= 1 5,903
RS AR 2 AT ) 0 R 1 I
[ B HE KA ]
= 1 493, 844
A B A0 0 22 %
= 1 59, 047
Ry M=) PR AR R B R
= 1 5,903
A" =N A IR AT 7% &
= 1 5,981
AL —h R 30W
& 1 11, 866 11, 866
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LA E DC12V/24V
& 1 11, 866 11, 866
IRALFF R E KR 5= DC12v
= 1 82, 780 82, 780
RALFF R E 21 A LARE AKER 5 D12V
= 1 57, 944 57, 944
RALEERER -7 HEABEF A1k (e fX51m)
(FTEH
ZN 1 91,710 91, 710
RALEERER -7 BEARBEFI PN /K e fX91m)
(FTEH
ZN 1 166, 747 166, 747
A B 0 ) 00 2 1 R L
[ sear]
= 1 3, 060, 998
IKPLFF R E KR 5= DC12v
= 1 82, 780 82, 780
RALEERER -7 A EERE A K (e fX34m)
(FTEH
ZN 1 58, 361 58, 361
FHER A% B
i) 1 251, 491 251, 491
AR E A5 EE ¢ 114.3X 3.5 L=2500
(FFAER" y 7 24E)
&0 1 53,192 53, 192
AL FE R E 500 X 500 X 300
(FFAER" y 7 24E)
&0 1 12,908 12,908
1w ¢ 114. 34
(FTEH
& 33 393. 12,992
RALEE PR R ¢ 114.3 3.0t SUS
m 25 43, 886 1,097, 150
IO FH PR S oK ¢ 114.3 3.0t SUS
m 31 43, 886 1, 360, 466
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IO FH PR B MK ¢ 114.3 3.0t SUS
m 3 43, 886 131, 658
B ST
= 1 1,104, 236
HimEp R (FE L)
= 1 1,104, 236
Wi
= 1 7,257, 885
BTk X=giiv oy
= 1 1,601, 698
PEfT R
= 1 1,127, 395
P TR
= 1 9, 986, 978
BREsE-¢
= 1 800, 386
R 5]
= 1 42, 543, 385
— e
= 1 6, 556, 615
Tk
= 1 49, 100, 000
THE B 2 %8
= 1 24, 950, 000
TG
= 1 274, 450, 000
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